Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

PLISKA studia mathematica bulgarica ПЛЛСКА български математически студии

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints. Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

> For further information on Pliska Studia Mathematica Bulgarica visit the website of the journal http://www.math.bas.bg/~pliska/ or contact: Editorial Office Pliska Studia Mathematica Bulgarica Institute of Mathematics and Informatics Bulgarian Academy of Sciences Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49 e-mail: pliska@math.bas.bg

Pliska Stud. Math. Bulgar. 18 (2007), 157–164

PLISKA studia mathematica bulgarica

THE NUMBER OF PARTS OF GIVEN MULTIPLICITY IN A RANDOM INTEGER PARTITION

Emil Kamenov¹

Let $X_{m,n}$ denote the number of parts of multiplicity m in a random partition of the positive integer n. We study the asymptotic behaviour of the variance of $X_{m,n}$ as $n \to \infty$ and fixed m.

1. Introduction

Let n be a positive integer. By a partition ω of n we mean a representation

$$\omega: \ n = \sum_{j} j \mu_{\omega}(j),$$

where $\mu_{\omega}(j), j = 1, 2, ...$ are nonnegative integers. $\mu_{\omega}(j)$ is called the multiplicity of part j.

The generating function g(x) of the number of all partitions of n, usually denoted by p(n), is determined by Euler(see [1, Chap.1]):

(1)
$$g(x) = 1 + \sum_{n=1}^{\infty} p(n)x^n = \prod_{j=1}^{\infty} \frac{1}{1 - x^j}.$$

¹The author was supported by the *MRTN-CT-2004-511953* project carried out by Alfréd Rényi Institute of Mathematics, in the framework of the European Community's Structuring the European Research Area programme. This paper is also partially supported by NFSI-Bulgaria, Grant No VU-MI-105/2005.

²⁰⁰⁰ Mathematics Subject Classification: 05A16, 05A17

Key words: Random Integer Partition

E. Kamenov

We shall introduce the uniform probability measure P on the set of all partitions of n, assuming that the probability 1/p(n) is assigned to each partition. Thus, each characteristic of the parts can be regarded as random variable.

Let $X_{m,n}(\omega)$ be the number of parts of multiplicity m in a partition ω of the positive integer n, i.e. $X_{m,n}(\omega) = |\{j : \mu_{\omega}(j) = m\}|$. Corteel, Pittel, Savage, Wilf [2] found the generating function H(x, y) of $X_{m,n}(\omega)$:

$$(2)H(x,y) = \sum_{n,j\geq 0} x^n y^j p(n) P(X_{m,n} = j) = g(x) \prod_{k=1}^{\infty} \left[1 + (y-1)x^{mk}(1-x^k) \right].$$

They use this generating function and found the following identity:

$$\mathbf{E}(X_{m,n}) = \sum_{j \ge 0} \frac{p(n-jm) - p(n-(m+1)j)}{p(n)}.$$

Then, they applied the asymptotic formula [3] for p(n) and showed that for each fixed m the average number of parts of multiplicity m of a partition of n is

(3)
$$\mathbf{E}(X_{m,n}) \sim \frac{\sqrt{6n}}{\pi} \frac{1}{m(m+1)} = \mu_n(m), \qquad n \to \infty.$$

Our main goal in this paper is to continue their research determining the asymptotic of the variance of $X_{m,n}$. We apply the saddle point method.

The paper is organized as follows. In section 2 are given three lemmas related to the partition generating function and the number of integer partitions. Section 3 contains the theorem for the variance of $X_{m,n}$ and its proof.

2. Preliminary asymptotic

We need some auxiliary facts related to the asymptotic behaviour of generating function g(x) and the numbers of partitions p(n). The results are given in the next three lemmas.

Lemma 1. [4]. If r_n satisfy

(4)
$$r_n = 1 - \frac{\pi}{\sqrt{6n}} + \frac{\pi^2}{12n} + O(n^{-3/2}).$$

and

(5)
$$b(r) = \frac{\pi}{3(1-r)^3}, \ 0 < r < 1,$$

then, as $n \to \infty$, the partition generating function determined by (2) satisfies

$$g(r_n e^{i\theta})e^{-i\theta n} = g(r_n) \exp\left(\frac{-\theta^2 b(r_n)}{2}\right) \left[1 + O(1/\log n)\right],$$

uniformly for $|\theta| \leq \delta_n$, where

(6)
$$\delta_n = \frac{n^{-2/3}}{\log n}.$$

Lemma 2. [5]. If r_n and δ_n satisfy (4) and (6), respectively, then there exist two constants c > 0 and n(c) > 0 such that

$$|g(r_n e^{i\theta})| \le g(r_n) \exp\left(\frac{-cn^{1/6}}{\log^2 n}\right)$$

uniformly for $\delta_n \leq |\theta| \leq \pi$ and $n \leq n(c)$.

We shall also essentially use the asymptotic for of the numbers p(n). It is given by Hardy and Ramanujan's formula [3], however, we need this result in a slightly different form as it is given in [5].

Lemma 3. We have

$$p(n) \sim \frac{g(r_n)r_n^{-n}}{\sqrt{2\pi b(r_n)}}$$

as $n \to \infty$, where r_n satisfies the equation

(7)
$$\frac{r_n g'(r_n)}{g(r_n)} = n$$

for sufficiently large n and b(r) is defined by (5).

3. Variance of $X_{m,n}$

Theorem 1. Let $X_{m,n}$ is the number of parts of multiplicity m in a random integer partition. Then, for every fixed m,

$$\operatorname{Var}(X_{m,n}) \sim \frac{\sqrt{6n}}{\pi} \frac{4m+1}{2m(2m+1)(m+1)},$$

as $n \to \infty$.

E. Kamenov

Proof. First, we point out that when taking logarithms we will consider the main branch of the logarithmic function assuming that $\log z < 0$ for 0 < z < 1. It is easy to see that (2) yields

$$\frac{d}{dy}\log H(x,y) = \frac{\frac{d}{dy}H(x,y)}{H(x,y)} = \sum_{k=1}^{\infty} \frac{x^{mk}(1-x^k)}{1+(y-1)x^{mk}(1-x^k)}.$$

Then

$$\left. \frac{d}{dy} H(x,y) \right|_{y=1} = H(x,1) \sum_{k=1}^{\infty} x^{mk} (1-x^k) = g(x) \sum_{k=1}^{\infty} x^{mk} (1-x^k).$$

Therefore, again by (2)

$$\sum_{n \ge 0} x^n p(n) \mathbf{E}(X_{m,n}) = g(x) \sum_{k=1}^{\infty} x^{mk} (1 - x^k).$$

In the same way one can calculate

$$\frac{\partial^2}{\partial y^2} H(x,y) \Big|_{y=1} = g(x) \left\{ \left[\sum_{k=1}^{\infty} x^{mk} (1-x^k) \right]^2 - \sum_{k=1}^{\infty} \left[x^{mk} (1-x^k) \right]^2 \right\}.$$

For the sake of convenience we denote the function in the curly brackets with F(x):

(8)
$$F(x) = \left[\sum_{k=1}^{\infty} x^{mk} (1-x^k)\right]^2 - \sum_{k=1}^{\infty} \left[x^{mk} (1-x^k)\right]^2$$
$$= \left[\frac{x^m}{1-x^m} - \frac{x^{m+1}}{1-x^{m+1}}\right]^2 - \frac{x^{2m}}{1-x^{2m}} + \frac{2x^{2m+1}}{1-x^{2m+1}} - \frac{x^{2m+2}}{1-x^{2m+2}}.$$

Therefore (2) again implies that

(9)
$$\sum_{n\geq 0} x^n p(n) \mathbf{E}[X_{m,n}(X_{m,n}-1)] = g(x)F(x).$$

We apply Cauchy's coefficient formula to (9) on the circle $x = r_n e^{i\theta}$ with r_n determined by (4). Thus we obtain

(10)
$$\mathbf{E}[X_{m,n}(X_{m,n}-1)] = \frac{r_n^{-n}}{2\pi p(n)} \int_{-\pi}^{\pi} g(r_n e^{i\theta}) F(r_n e^{i\theta}) e^{-i\theta n} d\theta = I_1 + I_2.$$

We break integral into two parts as follows:

(11)
$$I_1 = \frac{r_n^{-n}}{2\pi p(n)} \int_{-\delta_n}^{\delta_n} g(r_n e^{i\theta}) F(r_n e^{i\theta}) e^{-i\theta n} d\theta,$$

(12)
$$I_2 = \frac{r_n^{-n}}{2\pi p(n)} \int_{\delta_n \le |\theta| \le \pi} g(r_n e^{i\theta}) F(r_n e^{i\theta}) e^{-i\theta n} d\theta.$$

The asymptotic analysis of these integrals follows in the next two subsections.

3.1. An asymptotic estimate for $I_1(n)$

First, we will show that r_n defined by (4) satisfies condition (7). From (1) it follows that

(13)
$$\frac{r g'(r)}{g(r)} = r \frac{\partial}{\partial r} \log g(r) = \sum_{j=1}^{\infty} \frac{j r^j}{1 - r^j}.$$

We interpret this sum by a Riemann's one with the step size $y_n = -\log r_n$

(14)
$$\sum_{j=1}^{\infty} \frac{j r^j}{1 - r^j} \sim \frac{1}{y_n^2} \int_0^{\infty} \frac{y}{e^y - 1} \, dy.$$

Next, we use a well-known properties of Riemann zeta function (see e.g. [6, 1.7.8(II)])

(15)
$$\int_0^\infty \frac{y}{e^y - 1} \, dy = \zeta(2) \, \Gamma(2) = \frac{\pi^2}{6}.$$

Combining (13), (14), (15) and (4), we find that

$$\frac{r_n g'(r_n)}{g(r_n)} \sim \frac{\pi^2}{6 \log^2 r_n} = \frac{1}{n^{-1} + O(n^{-3/2})},$$

which completes the proof of (7).

We apply lemmas 1 and 3 to (11) and find that

(16)
$$I_1 \sim \frac{b^{1/2}(r_n)}{\sqrt{2\pi}} \int_{-\delta_n}^{\delta_n} e^{-\frac{\theta^2 b(r_n)}{2}} F(r_n e^{i\theta}) d\theta.$$

Next, we expand $F(r_n e^{i\theta})$ around the point r_n by Taylor's formula:

(17)
$$F(r_n e^{i\theta}) = F(r_n) + r_n (e^{i\theta} - 1)F'(r_n) + O\left(|\theta^2|F''(r_n)\right) \\ = F(r_n) \left[1 + O\left(|\theta|\frac{F'(r_n)}{F(r_n)}\right)\right].$$

E. Kamenov

We will first estimate the error term in (17). From definition (4) of r_n it follows that

(18)
$$\frac{r_n^m}{1 - r_n^m} = \frac{(1 + O(n^{-1/2}))^m}{1 - \left(1 - \frac{\pi}{\sqrt{6n}} + O(n^{-1})\right)^m} = \frac{1 + O(n^{-1/2})}{\frac{\pi m}{\sqrt{6n}} + O(n^{-1})} \sim \frac{\sqrt{6n}}{\pi}.$$

We use this asymptotic equivalence and equation (8) to estimate $F(r_n)$ as follows:

(19)
$$F(r_n) = \frac{6n}{\pi^2} \left(\frac{1}{m} - \frac{1}{m+1} \right)^2 - \frac{\sqrt{6n}}{\pi} \left(\frac{1}{2m} - \frac{2}{2m+1} + \frac{1}{2m+2} \right)$$
$$\sim \frac{6n}{\pi^2} \frac{1}{m^2(m+1)^2} - \frac{\sqrt{6n}}{\pi} \frac{1}{2m(2m+1)(m+1)}.$$

Next, we use (8) and (18) again to calculate $F'(r_n)$:

$$(20) F'(r_n) = 2 \left[\frac{r_n^m}{1 - r_n^m} - \frac{r_n^{m+1}}{1 - r_n^{m+1}} \right] \left[\frac{mr_n^{m-1}}{(1 - r_n^m)^2} - \frac{(m+1)r_n^m}{(1 - r_n^{m+1})^2} \right] \\ - \frac{2mr_n^{2m-1}}{(1 - r_n^{2m})^2} + \frac{2(2m+1)r_n^{2m}}{(1 - r_n^{2m+1})^2} - \frac{(2m+2)r_n^{2m+1}}{(1 - r_n^{2m+2})^2} \\ (2m)^{3/2} \left((1 - m - 1) \right)^2 - (2m)^2 \left((1 - m - 2) \right)^2 - (2m)^2 \left((1 - m - 2) \right)^2 + (2m)$$

$$\sim 2\frac{(6n)^{3/2}}{\pi^3} \left(\frac{1}{m} - \frac{1}{m+1}\right)^2 - \frac{6n}{\pi^2} \left(\frac{1}{2m} - \frac{2}{2m+1} + \frac{1}{2m+2}\right) = O(n^{3/2}).$$

From (19), (20) and (6) it follows that

(21)
$$O\left(\left|\theta\right|\frac{F'(r_n)}{F(r_n)}\right) = O\left(\left|\delta_n\right|\frac{n^{3/2}}{n}\right) = O(n^{-1/6}).$$

Substituting (17) and (21) in (16) we obtain

(22)
$$I_1 \sim \frac{b^{1/2}(r_n)F(r_n)}{\sqrt{2\pi}} \int_{-\delta_n}^{\delta_n} e^{-\frac{\theta^2 b(r_n)}{2}} d\theta = \frac{F(r_n)}{\sqrt{2\pi}} \int_{-\delta_n b^{1/2}(r_n)}^{\delta_n b^{1/2}(r_n)} e^{-\frac{t^2}{2}} dt.$$

In last integral we changed the variable of integration into $t = \theta b^{1/2}(r_n)$. Finally, (4) and (5) imply that

(23)
$$b(r_n) = \frac{\pi^2}{3\left[\frac{\pi}{\sqrt{6n}} - \frac{\pi^2}{12n} + O(n^{-3/2})\right]^3} = \frac{(6n)^{3/2} \pi^2}{3\pi^3 \left[1 + O(n^{-1/2})\right]}$$
$$= \frac{(6n)^{3/2}}{3\pi} \left[1 + O(n^{-1/2})\right] = \frac{2\sqrt{6}}{\pi} n^{3/2} + O(n).$$

If we combine this equation with the definition of δ_n given by (6), we find that

(24)
$$\delta_n b^{1/2}(r_n) \sim d n^{1/12} / \log n, \qquad d = (2/\pi)^{1/2} 6^{1/4}.$$

To complete the asymptotic analysis of I_1 we apply a well known property of Gaussian density to (22). So we get

$$(25) I_1 \sim F(r_n).$$

3.2. An asymptotic estimate for $I_2(n)$

Now we will show that the integral I_2 is negligible. It is easy to see that

$$\left|\frac{r_n^m e^{i\theta m}}{1 - r_n^m e^{i\theta m}}\right| = \frac{r^m}{\sqrt{1 - 2\,r^m\,\cos\theta + r^{2m}}} \le \frac{r^m}{\sqrt{1 - 2\,r^m + r^{2m}}} \le \frac{1}{1 - r^m}$$

(26)
$$= \frac{1}{1 - \left(1 - \frac{\pi}{\sqrt{6n}} + O(n^{-1})\right)^m} = \frac{1}{\frac{m\pi}{\sqrt{6n}} + O(n^{-1})} = O\left(n^{1/2}\right).$$

From (8) and (26) it follows that

(27)
$$\left|F(r_n e^{i\theta})\right| \le \left[O\left(n^{1/2}\right) + O\left(n^{1/2}\right)\right]^2 + O\left(n^{1/2}\right) = O(n).$$

We apply lemmas 2 and 3 and inequality (27) to (12). Then, for $n \ge n(c)$, we have

(28)

$$|I_{2}(n)| \sim \left| \frac{b^{1/2}(r_{n})}{\sqrt{2\pi} g(r_{n})} \int_{\delta_{n} \leq |\theta| \leq \pi} g(r_{n}e^{i\theta}) F(r_{n}e^{i\theta}) e^{-i\theta n} d\theta \right|$$

$$\leq \frac{b^{1/2}(r_{n}) \exp\left\{\frac{-cn^{1/6}}{\log^{2} n}\right\}}{\sqrt{2\pi}} \int_{\delta_{n} \leq |\theta| \leq \pi} \left| F(r_{n}e^{i\theta}) e^{-i\theta n} \right| d\theta$$

$$\leq b^{1/2}(r_{n}) \exp\left\{\frac{-cn^{1/6}}{\log^{2} n}\right\} O(n) \sqrt{2\pi}.$$

If we combine (23) and (28), we find that

(29)
$$|I_2(n)| \le \exp\left\{\frac{-cn^{1/6}}{\log^2 n}\right\} O\left(n^{5/2}\right) = o(1).$$

as $n \to \infty$.

3.3. Formula about variance of $X_{m,n}$

Equations (10), (25) and (29) imply that

$$\mathbf{E}[X_{m,n}(X_{m,n}-1)] \sim F(r_n).$$

Substituting this, (19) and (3) in the well known formula

$$Var(X_{m,n}) = E[X_{m,n}(X_{m,n}-1)] + E(X_{m,n}) - [E(X_{m,n})]^2$$

after simple manipulations we obtain

$$\operatorname{Var}(X_{m,n}) \sim \frac{\sqrt{6n}}{\pi} \left(\frac{1}{m(m+1)} - \frac{1}{2m(2m+1)(m+1)} \right),$$

which completes the proof. \Box

$\mathbf{R} \, \mathbf{E} \, \mathbf{F} \, \mathbf{E} \, \mathbf{R} \, \mathbf{E} \, \mathbf{N} \, \mathbf{C} \, \mathbf{E} \, \mathbf{S}$

- G.E.ANDREWS The Theory of Partitions, *Encyclopedia Math. Appl. 2* Addison-Wesley, 1976.
- [2] S.CORTEEL, B.PITTEL, C.D.SAVAGE, H.S.WILF On the multiplicity of parts in a random partition, *Random Structures and Algorithms* 14 (1999), 185–197.
- [3] J.H. HARDY AND S. RAMANUJAN Asymptotic formula in combinatory analysis, Proc. London. Math. Soc. 17(2) (1918), 75–115.
- [4] L. MUTAFCHIEV A limit theorem concerning the likely shape of the Ferrers diagram, *Discr. Math. Appl.* 9 (1999), 79–100; Correction, ibid. 9 (1999), 685–686.
- [5] L. MUTAFCHIEV On the maximal multiplicity of parts in a random integer partition, *The Ramanujan Journal* 9 (2005), 305–316.
- [6] E. C. TITCHMARSH The theory of functions. Oxford Uni. Press, 1939.

Emil Kamenov Faculty of Mathematics and Informatics Sofia University 5, J. Bouchier Sofia, Bulgaria e-mail: kamenov@fmi.uni-sofia.bg